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Note :  Answers may be written either in English or in Hindi: but the same medium should be
used throughout the paper.
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Attempt five questions in all. Question No.1 is compulsory.
Attempt any four questions from question Nos. 2 to 8.

All questions carry equal marks.
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1. Distinguish between any two of the following : 15
(@) Nominal income and Real income
(b)) Commodity Money and Fiat Money
() Aggregate demand and Aggregate output

(d) Actual and Planned Investment.
P.T.O.
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(@) Explain how the national income is estimated using expenditure approach in national -

income accounting.
() Explain the limitations of GDP as a measure of social welfare. 10,5
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Expléin balanced budget rﬁultiplier. A fiscal policy change of the government raises the
GDP by Rs. 10,000 crores if the consumption function is C = 50 + 0.75 Y d.' What
is the change in government expenditure that led to such increase ? If the tax revenue
is increased by Rs. 2,500 crores, what would be the change in the GDP ? What is

the value of balanced budget multiplier ? 15

A I E hl avA T WER w T AR s Q
STt & 10,000 ®UT TR # gfg @t 2 oafr sgsin we
c=so+o§75Yd%|saqﬁaﬁqa%ﬁfrqwﬂ'mﬁmmma§w
@ﬂ?ﬁmmﬁz,sooﬂg@ﬁq@@,ﬁﬁﬁﬁm
et B 7 Wgfas wse iw @ e awm @ 2



(3 5243

(a) Explain the equality of aggregate demand and aggregate output in determining the

equilibrium level of income.
B If C =50 + 075 Y,
(i) derive savings function.
() At what level of income savings become zero ?

(i) It autonomous investment is Rs. 200 crores. at what level of income saving

will become equal to investment ? Show it diagrammatically. 7.8
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Explain the determinants of the change in net export function. If MPS

= 0.2 and
MPM = 0.1, calculate import multiplier. _ 15
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() Explain the process of credit creation under the multiple banking Systems.

(b)) You are given this account for a bank with the Required reserve ratio' equals to

10 percent : - _ 7.8
Assets " Liabilities |
 Reserves Rs: 500 Deposits Rs. 3,500
Loans ~ Rs. 3,000 |

P.T.O.
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() How much is the bank required to hold as reserves given the deposits
Rs. 3,500 ?
(i) How much are its excess reserves ?

(iif) By how much can the bank increase its loan ?

(v} How much is the total deposit created ° _
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7. \ Using Keynesian framework, explain how equilibrium level of rate of interest is affected

if (a) price level increases (b) Central bank conducts open market operations. 15
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(a) Explain with the help of diagram the 'paradox of thrift'.
(b) Determine the level of income through equality of saving and investm.ent approach |
with the help of a diagram. Explain the process of adjustment if saving and investment
are equal ' ' 7.8
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